[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

0.1
0.09 : : :
0.08fH |} S RS e
0.07 ' :
0.06
0.05
0.04
0.03
0.02
0.01

0
LAt

T

1.2
1+

1072

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO

— —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
Efficiend

N

=
[
>

[
>
>

o
e
Q

ettici

Ratio

—— DQM_V0001_R000000001__Global__mkFitNewBins1DC1000time__RECO

0.5

L R SRR SRR S -
0.4 oebeemneeeenns R -
0.35F-+eesberseersdinenne: A 5
T e e
RN -
R T Sl S
9T SR A TR
e 11 T e
L0 S e &;&#@,&##. -

-
-
-

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

[
>
>

0.1
0.09
0.08
0.07F

-y

678 -6 4 -2 0 6 8 10
. PV z(cm)



	Contents
	Page 1


